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Problema 1 
 
  L = µ0N

2A/l = 4.16 10-4H         ε = -LdI/dt         dI/dt = -0.421 A/s 
 
 
 
                                                                      Problema 2 
 
Φsemisfera = (1/4πε0)Q/R2  ½4πR2 = Q/2ε0        Φcerchio = - Φsemisfera  = - Q/2ε0    

 
 
 
                                                                       Problema 3 
 
ε 

 = -N d/dt [BAcosθ] = NBAω cosωt     εmax =  NBAω =NBA 2πf     = 12.6 mV 
 
 
 
                                                                      Problema 4 
 
C1 + C2 = 4              1/C1  +  1/C2 = 4/C1               C1 = 3 µF              C2 = 1 µF    
           
 
 
                                                                                   Problema 5 
 
K + U = cost                ½ mvi

2 +qV0 = ½ mvf
2 +qV2       V2 – V0   = -38.9 V    

 
  
 
                                                                                   Problema 6 
 
V = (1/4πε0)Q/R          E = (1/4πε0)Q/R2             q = 1.19 10-7 C           r = 2.67 m 
 
 
  
                                                                                   Problema 7 
 
 
ax = 0         ay = -2.87 109                 az = 5.75 109     [m/s2] 


